Efficiency vs Dxy(PV)
0.8,

o

efficiency vs dxy(PV)
o

|

Ratio

i

5 10 15 20
TP dxy(PV) (cm)

—=— DQM_old

—— DQM_wrong
[ Efficiend —— DQM_v0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

efficiency vs dxy(P

1.2

Ratio

1

0.8

Efficiency vs Dz(PV)

-0.8-0.6-04-02 0

0.2 04 06 08
TP dxy(PV) (cm)

1.2

s =T

o L

N [

©

1Y

>

> [ . . . . .

<R OY: P F S A S,

g : : : : :

(&) -

£ . : : : : :

© 0.6 RS IREALEEES CRRREE eeee
77 ST S S ST T S
02:_ ........... L B R L SR LI

el

T

o
08F----mr--n-- FEETER | R TR R
=30 -20 -10 0 1 20 30

Efficiency vs Dz(PV)
1.2

TP dz(PV) (cm)

efficiency vs dz(PV)

Ratio

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


